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Mansoura University
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Final Examination in Botany
Jan. 2010
Educational Year: First Level Program (Branch): Biology
Subject: Bot (101) Course(s): Systematic Botany
Time: 2 hrs  Date: 16/1/2010 Full mark: 60 Question mark: 15

Answer the following questions:

Q1: Select the correct response for the following statements: (15)

1- The green alga Chlamydomonas is (unicellular non motile — Colonial
non motile — colonial motile — unicellular motile).

2- Agaricus belongs to class (Oomycetes — Deutromycetes-
Basidiomycetes- myxomycetes).

3- Bacteria have cell wall composed mainly of (pectin — Peptidoglycan
— cellulose- chitin).

4- All of these plants have vascular system except (Bryophytes —
Gymnosperms- Angiosperms — Ferns).

5- Zygospore is a result of (asexual —sexual —vegetative) reproduction.

6- Main chemical components in viruses (protein — nucleic acid —
protein and nucleic acid).

Q2: Complete the following sentences: (15)

1- Bacteria belong to kingdom --------- , however, algae belong to
kingdom ----------- :
2- Aspergillus is classified under class ----------- , however, Rhizopus is

related to class --------------
3- In Bryophytes, the root- llke structure is termed ---------- .
4- All photosynthetic organisms are eukaryotic except ----------- .
5- The fusion of two morphologically similar gametes in algae is
known as ---------- .
e are the viruses those influent Bacteria.

Q3: Match true (¥) or false () for each of the following: (15)
- Spirogyra reproduce sexually by conjugation

- Monocot plants are related to Angiosperms

- Spirulina belongs to kingdom Protista

- Pinus is classified under Gymosperms
All Bacteria are heterotrophic
Viruses can be cultivated on synthetic media _

PGB P —

Q4: Compare between each two of the following: (15)

- Flagella and Fimberia (Pili)

2- Bryophyta and Petridophyta

3- Kingdom moneria and kingdom: Plantae

4- Chlorophyceae and Bacifloraphyceae

Answer the following:

5- Design the life cycle of Funaria OR a fern.

6- Characters of viruses and lytic cycle.

Examiners: Prof. Abd-Eldayem Sherif Prof. Mervat Hosney
Dr. Adel EI-Morsy Dr. Doaa Darwish



Mansoura University Tirst Level

Faculty of Science Date: Jan. 2010
Chemistry Department 'Time Allowed : 2 hours
Subject: Chemistry Full Mark: 60 Marks

Course: Basic Inorganic Chemistry
(121)

ANSER THE FOLLOWING QUESTIONS:

1) a- How many nitrogen atoms are there in 0.34 g N,O; (N =14, O = 16)
[4 Mark|
b- Diagram the resonance forms of SO, (S=16, 0 =8) [4 Mark]
c- Use VSEPR theory to predict the shape of the following:
i) SCl4 ii)BF; (S=16,Cl=17,B=5,F=9) [6 Mark]
d- Explain Why: [6 Mark]
i) N, is more stable than O, using molecular orbital theory (N = 7).
ii) The second ionization energy is more than the first.

2) a- A sample compound containing carbon and hydrogen weighs 2.8 g
is burned in air and produced 3.6 g CO; and 8.8 g H,O, If its
molecular weight is 140, What is molecular formula? [8 Mark]

b- Diagram Lewis structure for the following: [6 Mark]
i) Cl104 ii) CO; ™
¢) Calculate the wavelength (nm) and energy (j) of the line of ,(Ca*’
when its last electron jumps to its sixth level
(R=109678 cm™, h= 6.066x10* j, C = 3x10* ms™) [6 Mark]

3) a- Nitrogen reacts with oxygen to form NO,. If 0.8 g of N, mixed with

0.75 g O,. Calculate the amount of NO, [6 Mark]
b- Which of the following sets of quantum numbers are allowed
for an electron in the atom: [4 Mark]
n 1 m S
1) 4 2 +2 =Y
2) 5 3 0 Y2
3) 2 2 0 )
4) 3 1 -1 0

c- According to the valence bond theory, predict the type of
hybridization in the following: PCls; and H,S (P =15,Cl=17,
H=1,S=16) [6 Mark]

d- Draw Born-Haber cycle for Na,O . [4 Mark]

Examiners: Prof Dr El-Asmy; Prof Dr Abo El-Reash; Prof Dr Nawar




Mansoura University First year
Faculty of Science Time allowed: 2hrs
January, 27", 2010 English Language Exam

Section One: Reading Skills
Read the following passage and then answer the questions that follow:

Carbon is a very special material, and there are atoms of it in many things: for
instance the "lead" of a pencil is made of carbon, coal is made of carbon, and so are
diamonds. A number of other things such as wood, plants and oil are made very
largely of carbon, but have other substances as well. The molecules which make up
our bodies depend on carbon.

Carbon atoms are so special because they have the property of joining together
into molecules in different ways. For instance the atoms of coal and diamonds are
joined together to make crystals, but each in its own patterns, are consequently from
carbon atoms come two things so different to look at. A pencil "lead" is also carbon,
but here the atoms are arranged not in crystals but in flat sheets, far and too small, of
course, to see. When we press a pencil onto a paper, the paper pulls some of the sheets
atoms away, and these make the pencil marks. Paper may feel smooth, but it is rough
enough to slide off some sheets of atoms. If you try to write on glass and cellophane,
your pencil leaves no marks, for these are too smooth to pull the sheets away from the
pencil "lead".

Besides forming into crystals and making sheets, carbon atoms can also form
into long series of atoms, like chains. No other substance can do this so well. Each
chain of carbon atoms can also have other substances attached to the links of the
carbon chain. If the carbon chain has hydrogen atoms joined on to it, we have what
scientists call a "hydrocarbon". Hydrocarbons give us molecules of oil, petrol,
paraffin, tar, and neutral gas, like that found under the North Sea.

Scientists have discovered that carbon chains can be very long, and can
contain thousands of both carbon and other atoms. These long carbon chains are
single molecules, but much more complicated than the single molecules of water, for
instance, which are made of only three atoms (one of oxygen and two of hydrogen).
These are the molecules of very complicated substances such as complicated ways.
They can also be arranged in rings. The different kinds of oils, such as petrol and
paraffin, depends on the way in which the atoms are arranged can make the petrol or
paraffin from the oil out of an oil-well by heating it enough to change the pattern of
the atoms in its molecules.

The chemist today has found out how to make new substances by heating
materials made of hydrocarbon chains, such as oil or coal, in giant pressure cookers
and mixing with them other chemicals. When very hot indeed, the atoms of the other
chemicals fit into the hydrocarbon chain and combine to make molecules of a new
pattern. The result of this may be a plastic for making cups or washing-up bowels, or
an artificial fiber for making clothes. Nylon, for example, is a man-made fiber with
molecules made out of carbon chains in which atoms of nitrogen, hydrogen, and
oxygen fit in a particular arrangements. Milk contains carbon, and the chemist can
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extract these and reform them into a plastic for making solid things such as buttons
and door handles.

The carbon chain in living things are even more complicated than those in oils,
plastics, or artificial fibers, and may contain hundreds of atoms; there is often more
than one chain in each molecule, and these may be twisted together like ropes or
bundles. It is a difficult problem for the scientist to unravel these complicated
molecules, and therefore, although he can make an artificial fiber, has not yet been
able to fit the molecules together to make a living plant or animal.

1. Answer the following questions:

What is the difference between petrol and paraffin?
Why are carbon atoms special?

How is hydrocarbon made?

Why the pencil doesn't leave marks on glass?

How can the scientists make plastic?

o0 op

2. Read the following sentences and then decide they are True or False:
a. Carbon atoms can join just in one way.
b. Hydrocarbons give us molecules of paraffin only.
c. Milk contains carbon chains.
d. The carbon chains are more complicated in oils, plastics or artificial fibers

)

)

)

an

those in living things. )

~~ S.A/-\/-\

3. Complete the following sentences according to the passage:
a. The molecules which make up our bodies depend on .
b. When we press a pencil onto paper, the paper pulls some of

the of away.

c. If the carbon chain has hydrogen atoms joined on to it, so we have what is
called .

d. The chemist has found out how to make new substances by
materials made of chains.

4. Choose the correct answer:
1- The carbon atoms in the pencil "lead" are arranged in

a. crystals b. chains c. rings d. sheets
2- The chemist can extract the carbon chains which are in and

reform them into plastic.

a. plants b. oil c. milk d. tar

3- The long carbon chains are single

a. substances b. molecules c. atoms d. chains
4- By materials made of hydrocarbon and mixing with other

chemicals, the chemist has found the way of making new substances.

a. heating b. coiled up c. joining d. using

5. What do the underlined words refer to?
1. They (paragraph 2) 2. These (paragraph 2)
3. They (paragraph 4) 4. Those (paragraph 6)
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Section Two: Language Skills:

1- Put the word in brackets into the correct form. You will have to use prefixes
and/or suffixes.

1. He was sitting in his seat on the train. (comfort)

2. The team that he supported were able to win the
(champion)

3. She looked at her in the mirror. (reflect)

4. The bacteria are so small that you need a to see them.
(scope)

5. She looked at him , and started to cry. (happy)

2- Give two words from the following roots using the needed suffixes or prefixes:

1. Cycle

2. Auto

3. Logy

4. Scope

5. Leg

3- Please provide a conjunction in the following sentences.

1. Either Andrew Peter will help our pastor.
2. Did the team win lose?

3. The team tried hard still lost the game.
4. The police officer spoke politely firmly.

5. The story was long interesting.

Section Three: Writing Skills:

- The value of time.
- Security on the internet.
- The effect of global warming.

Choose one of the above topics to write on. Follow the instructions below:
1- Write at least 4 paragraphs
2- Introduction and conclusion not less than S sentences
3- Body paragraphs not less than 8 sentences

4- Show your plan (tree). :
5- You must identify the Linking words, if used.

GOOD LUCH
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Faculty of science. Jan.2010
Zoology department Final Exam. Time allowed:2hrs
Nutrition (Z, 125) Biochemistry students 1°' level.
Answer all the following questions. j
Question 1
Write as shown in brackets. (15 Marks)
1. B-oxidation.................. (in which type of food stuff is done).
2. Slycogenolysis........... (dentify& mention hormone affect it).
3. Ornithine Krebscycle............................. ... (lustrate).
4. Gastrin enzyme is important for gastric juice secretion(put line under a
wrong word).
5. Serous cells secrete mucin ... (v or X).
6. Oxyntic cells secrete HCI(If it is wrong add line under the wrong word).
7. Small intestine is important for absorption as it has
numerous....(Complete).
8. Enzymes that acts by hydrolysis is called.......... (Complete).
9. Psychic state do not play role in enzyme secretion.( v or X).
10.Enzymes are denaturated above..................... (Complete).
11.lieocoecal valve prevent return of digested food
O (Complete).
12.Active transport release energy................ (change a word to make

the sentence write).
13.HC! is important to control optimum temperature in stomach (add line
under the wrong word).

Question 2
(15Marks)

a)Br efly illustrate content, function and hormone affected pancreatic juice
secretion.

b) Follow up digestion and route of absorption of a carbohydrate diet.

Question 3

a) Fill in the blanks ....ccccieiiecicsinss s, (10 Marks)
T stimulates contraction of the intestine, peristalsis .
2. The active form of Vitamin D3 synthesis (production) takes place in

3. The most important source of energy in the body is......................

4. Thz earliest manifestation of vitamin A deficiencyis.........................
5. Diseases taused by nutritional deficiencies............... &
6. The food which has the highest vitamin E content s
7. Dietary Sources of Vitamin C are.........................oo

8. lodine is a trace' mineral critical for the synthesis of




9. Asimple Iiplds composed of ester of faty 1cids with alcohc.s other than

glycerol .. .
10.The booy or an adult m 1[:, s approxu Gocly wa-ar, while an
adult femaleis ... .. water. -
1) 1 2) 3) | |'5)
L __ e L \i‘
6) 1 7) 8) n 10)
b) What is meant by each of the followiig:........ (10 Marks)
1. The balanced diet.
2. High biological proteins.
3. Saturated fats.
4. Malnutrition.
5. Biological importance of carbohydratec o
Question 4
Choose the correct answer....ccoivviiiinicciiiinnn, «+.e:.(10 Marks)

1- Which of the following is(are) | 2- Which of tiic following are organic nutrie :3?

NOT a1 energy nutrient? " A)carbohydrate B)Fats. C)Minerals
A)carbohydrates B)Fats. C)Alcohol i D) Vitamins E) Water.

D) Vitamins |

E) Pieins.

3- Whizh of the followmg is a type | ' 4- When a nu'rient is said to be "essent .i," it
of curbohydrate that does NOT | means thatitic

yield ehergy? - A)very important 1o the body.

A)Alcciol.  Bisimple sugars. ‘ B)one which rmu { be provided in the diet.

C) fiber (Cellulose) ' C) one that the | :dy can manufacture.

D) sti.iches. ]\' D) something "7t provides energy to the body.

5- Which of the following is NOT | 6- Inadequate «upplies of this vitamin inhib  liver
one of the six classes of nutrients? | production ot {i rothrombin) plasma protein
A)carbohydrates  B)Fats. C)Alcohol | A) vitamin D. 5} vitamin K. C) vitamin A

D) Vite: nins E) Proteins. I D) vitamin C. -y vitamin B.
|
7-This participates in the synthesis of | 8- What is the synonym of vitamin C.
hemogicbin . A)Copper B) Chloride
o ' A)Tocopherc; B) Folic Acid
C) Caicum D) ron E) lodine  C) Ascorbic acii D) Thiamine _E) Retinol

circulating energy substrate? A) alanine. B) serine. C) proline.
A) Amino acids. B) Fatty acids. Meth|on|ne

C) Glycerol. ks f damaall ALY Asaall ALY e Il G i au
PP 4,L¢.\;‘\7 el S (2 aduhat sy Sl (3 gti @ sl

9-Which of the following is not a T{ 0-Essential am:no acids include
D) Polysaccharides. 1

IER - 4) 5)

7) 8)  9) 10

er;rol". Dr.: G:ln;;l -;J rees & Prof. Dr: Maher Amer.
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Faculty of Science aslall A4S
Physics Department = el ll 2
First Term Examination Jan 2010
Academic Level: First Level Program: Geo&Chem Zool&,Bio
Time: 2 Hours Chem,Bot.Env
Date: Jan. 2010 Subject: Physics 101
Full Mark: 60 Marks Courses: Heat, Prop. Of Matter

Answer ALL Questions

[1] a- If the acceleration (a) of a particle moving with uniform speed (v) in a circle of radius (r) is
proportional to ™ and v" . Determine the values of n and m, write the simplest equation of
the acceleration. , [6] Mark

b- A solid brass sphere has a volume of 0.5 m3is initially on air at pressure of 1x 10° Pa. The
sphere is lowered into the ocean to a depth where the pressure is 2x 10’ Pa. If the bulk
modulus is 6.1x 10'° Pa. Find :

i) How much does the volume change at this depth
ii) The change in the radius of the sphere at this depth. V =4/3 (n r) [9] Mark

[2] a- How much energy is required to change 30 g Of ice at -10°C into steam at 120°C.where
Cice= 2090J/kg°C, L=3.33x10°J/kg, Cw=4190J/kg°C, L,=2.26x10%J/kg , Cs=2101J/kg°C
[5] Mark
b-. A 100 g block is attached to a horizontal spring and execute simple harmonic motion with
a period of 0.5 sec. If the total energy of the system is 2 J, Find:
i) The force constant (k)of the spring
i) The amplitude of the motion

iif) The maximum velocity and the maximum acceleration of the block [10] Mark
[3] a- Prove that Bernoulli’s equation is a very good example for conservation of energy.
[7] Mark

b — At 20.0°C, an aluminum ring has an inner diameter of 5 cm and a brass rod has a
diameter of 5.05 cm. (a If both are heated together, what temperature must they both
reach so that the r|ng just slips over the rod’? Would this process work? .
aa = 24x107° (C%)" & ag, = 19x 108 (C°)" [8] Mark

[4] a- Define The following: i) Specific heat ii) Isobaric process iii) Latent heat of melting
iv) Poison’s ratio v) Ice point vi) Young’s modulus vii) Thermal conductivity [7] Mark

b- A silver bar of length 30 cm and cross-sectional area 1 cm? is used to transfer heat from
100 °C reservoir to 0 °C reservoir .How much heat is transferred per second ( the
thermal conductivity of silver is=427 W/m.°C) [8] Mark

Examiners:!- Dr. Maysa ISMAIL 2- Dr.E.M.AbdELRAZEK
3- Dr. Nabil KINAWY




Mansoura University First Term

Faculty of Science L First level Biochemistry Students
Chemistry Department Date :30 Jan. 2010

Subject: Chemistry Time Allowed: 2 hours
Course(s): Physical Chemistry Full Mark: 60 Marks

1.a) In the light of Dalton's law, prove that P, = X4 P; [ 4 Marks |
b) Calculate the root — mean square speed of a gas from the kinetic equation of gases. [ 4 Marks |
¢) What is the meaning of van der Waal's equation . [ 4 Marks ]
d) Ca czlz;;e tge molecular weight of a gas if 0.25 grams of this gas occupy 215 ml at 0.813 atm. [ 3 Marks |

2.a) Discuss the relation between Henry's law and Raoult's law . [ 4 Marks ]
b) What is meant by a colligative properties . [ 4 Marks |

¢) What is the freezing point of a solution in which 20.0 grams of sucrose ( C;2H2,01;) is dissolved in 400
grams of water. . (K¢=1.86 °C/ mol forwater C=12,0=16,H=1). [ 4 Marks |
d) Explain the meaning of Vant — Hoff factor and its relation with the degree of dissociation . |3 Marks ]
3.a) For the following reversible reaction : aA +bB === ¢cC+dD
Derive and expression for K¢ [ 4 Marks |

b) In the light of Le chatelier's principle show the effect of concentration, pressure and
temperature on the following reaction.

Na(g) + 3Ha(g) == 2 NHi(g) A H=-94.4KJ : [ 4 Marks |-
¢) What is the meaning of buffer solution, calculate its pH [ 4 Marks |
d) K for the reaction below at 450°C : <c = (.o}

PCls(g) === PCli(g) + Cl2 (g)
Evaluate Kp for the reaction at 450°C. [ 3 Marks |
4.a2) What 1s the meaning of the following : pH , PK., K; and Ky [ 4 Marks ]
b) Write notes on the common ion effect [ 4 Marks |
¢) What is the meaning of Hess's law. Given the following standard heat of reactions .
2A>B+C AH° =-5.0KJ
B+2A>E AH°=-15.0KJ
Find AH® for each of the following reactions :
i) 6A 2 3B +3C i)B+C > 2A iii) 2B+ C> E [ 4 Marks |
d) At 25°C 0.00188 grams of AgCl dissolves in 1 Liter of water. What is the Ksp of
AgCl (Ag=107.5, C1 =35.5). [ 3 Marks |
Good Luck .

Examiners : Prof. Dr. Yehia Elewady
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